
chart.post_fifo(
  Event(signal=signals.POLL))

processing

entry /
  chart.processing_count += 1
  chart.scribble("processing")

busy

entry / 
  	chart.busy_count = 0

TIME_OUT /
   chart.scribble("busy")
   chart.busy_count += 1
   if chart.busy_count >= 2:
      chart.trans(polling)

  

polling

   
TIME_OUT /
   chart.scribble("polling")
   chart.post_fifo(
     Event(signal=signals.PROCESS))
   
	

chart.augment(other=0, name="processing_count")
chart.augment(other=0, name="busy_count")
chart.start_at(polling)

chart.post_fifo(
 Event(signal=signals.TIME_OUT),
 times=10,
 period=0.1)

Event Processor

chart = Factory()

POLL

PROCESS

[chart.processing_cout >= 3] \
 (chart.processing_count = 0)


